STRONG CONVERGENCE FOR EQUILIBRIUM PROBLEM AND FIXED POINT PROBLEMS OF NON-SELF ASYMPTOTICALLY NONEXPANSIVE MAPPINGS IN HILBERT SPACE

Li-Juan Qin

Department of Mathematics Kunming University Kunming, Yunnan, 650214 P. R. China e-mail: annyglj@163.com

Abstract

In this paper, an iterative scheme for finding a common element of the set of solutions of an equilibrium problem and the set of fixed points of non-self asymptotically nonexpansive mappings is introduced in Hilbert spaces, under some suitable conditions, a strong convergence theorem is proved.

1. Introduction

Let H be a real Hilbert space with inner product $\langle \cdot, \cdot \rangle$ and norm $\| \cdot \|$. Let C be a nonempty closed convex subset of H and $\Phi : C \times C \to R$ be a bifunction, where R is the set of real numbers. The equilibrium problem (for short, EP) for Φ is to find $x^* \in C$ such that

© 2012 Pushpa Publishing House

2010 Mathematics Subject Classification: 47H09, 47J25.

Keywords and phrases: iteration method, equilibrium problem, common element, non-self asymptotically nonexpansive mappings, fixed point.

Received September 30, 2011

$$\Phi(x^*, y) \ge 0, \quad \forall y \in C. \tag{1.1}$$

The set of solutions of EP(1.1) is denoted by $EP(\Phi)$, this is

$$EP(\Phi) = \{x^* \in C : \Phi(x^*, y) \ge 0, \forall y \in C\}. \tag{1.2}$$

Let *E* be a real Banach space. Then a mapping $T: E \to E$ is said to be *L-Lipschitzian* if there exists an L > 0 such that

$$||Tx - Ty|| \le L||x - y||, \quad \forall x, y \in E.$$
 (1.3)

T is said to be *nonexpansive* if L=1 in (1.3). The set of all fixed points of T is denoted by F(T), that is $F(T)=\{x\in K:Tx=x\}$. If C is a bounded nonempty closed convex subset of H and T is a nonexpansive mapping from C into itself, then F(T) is nonempty [13]. A mapping T is said to be an asymptotically nonexpansive from C into itself if there exists $\{k_n\}\subset [1,+\infty)$ satisfying $\lim_{n\to\infty}k_n=1$ such that $\|T^nx-T^ny\|\leq k_n\|x-y\|$ for all $x,y\in C$.

Being an important generalization of the concept of nonexpansive mapping, the concept of asymptotically nonexpansive mapping was introduced by Goebel and Kirk [6] in 1972. They proved that an asymptotically nonexpansive mapping has a fixed point if C is a nonempty closed convex subset of a real uniformly convex Banach space.

It is well known that EP(1.1) contains as special cases, for instance, optimization problems, Nash equilibrium problems, complementarity problems, fixed point problems, variational inequalities and some problems arising from physics and engineering. The solutions of EP(1.1) has been widely studied by many authors (see, e.g., [4, 7-9, 11, 12] and references therein). They constructed many iteration methods to approximate a common element of the set of solutions of EP(1.1) and the set of fixed points of nonexpansive mappings in Hilbert spaces. But in some of iteration methods, they have to compute project subsets at each step of iteration processes (see, e.g., [7, 12]). It is a very difficult work. For example, in [12], for finding a

Strong Convergence for Equilibrium Problem and Fixed Point ... 259

common element of $EP(\Phi)$ and F(T), Tada and Takahashi [12] introduced the following iterative scheme for nonexpansive mapping in a Hilbert space: For any given $x_0 \in H$ and let

$$\begin{cases} u_n \in C \text{ such that } F(u_n, y) + \frac{1}{r_n} \langle y - u_n, u_n - x_n \rangle \ge 0, \ \forall y \in C, \\ w_n = (1 - \alpha_n) x_n + \alpha_n T u_n, \\ C_n = \{ z \in H : \| w_n - z \| \le \| x_n - z \| \}, \\ Q_n = \{ z \in H : \langle x_n - z, x_0 - x_n \rangle \ge 0 \}, \\ x_{n+1} = P_{C_n \cap Q_n} x_0 \end{cases}$$

for each nonnegative integer n, under some mild assumptions on parameters $\{\alpha_n\}$ and $\{r_n\}$, they proved that $\{x_n\}$ and $\{u_n\}$ converge strongly to $z \in F(T) \cap EP(\Phi)$, where $z = P_{F(T) \cap EP(\Phi)} x_0$.

In 2003, Chidume et al. [2] introduced the concept of non-self asymptotically nonexpansive mappings to be a generalization of asymptotically nonexpansive self-mappings as follows: Let C be a nonempty closed convex subset of a real normed linear space E, P be a nonexpansive retraction from E onto C, a non-self mapping $T:C\to E$ is said to be *non-self asymptotically nonexpansive* if there exists $\{k_n\}\subset [1,+\infty)$ satisfying $\lim_{n\to\infty}k_n=1$ such that $\|T(PT)^{n-1}x-T(PT)^{n-1}y\|\le k_n\|x-y\|$ for all $x,y\in C$ and each integer $n\ge 1$. Since then some authors (see, e.g., [2, 3, 14-17]) have obtained some strong and weak convergence theorems for such mappings in uniformly convex Banach spaces.

Inspired and motivated by the work of [2, 7, 12] and [15], we introduce an iteration scheme, which reduces the burden of computation task to compute C_n and Q_n in iterative processes, and show that the iteration schemes $\{x_n\}$ and $\{u_n\}$ converge strongly to a common element of the set of solutions of EP(1.1) and the set of fixed points of a non-self asymptotically nonexpansive mapping in Hilbert spaces.

2. Preliminaries

Throughout this paper, let H be a Hilbert space with inner product $\langle \cdot, \cdot \rangle$ and norm $\|\cdot\|$, C be a nonempty closed convex subset of H. We denote the strong convergence, weak convergence of a sequence $\{x_n\}$ to a point $x \in X$ by $x_n \to x$, $x_n \to x$ as $n \to \infty$, respectively.

In this paper, we always assume that bifunction $\Phi: C \times C \to R$ satisfies the following conditions:

(A1)
$$\Phi(x, x) = 0, \forall x \in C$$
;

(A2)
$$\Phi(x, y) + \Phi(y, x) \le 0$$
, $\forall x, y \in C$;

(A3) For all
$$x, y, z \in C$$
, $\lim_{t \downarrow 0} \Phi(tz + (1 - t)x, y) \le \Phi(x, y)$;

(A4) For each $x \in C$, the function $y \mapsto \Phi(x, y)$ is convex and lower semicontinuous.

By using the conditions above, Combettes and Hirstoaga [5] obtained the following results:

Lemma 2.1 [5]. Let C be a nonempty closed convex subset of Hilbert space H and let $\Phi: C \times C \to R$ be a bifunction satisfying (A1)-(A4). Let r > 0 and $x \in H$. Then there exists a $z \in K$ such that

$$\Phi(z, y) + \frac{1}{r} \langle y - z, z - x \rangle \ge 0, \quad \forall y \in C.$$
 (2.1)

Lemma 2.2 [5]. Assume that $\Phi: C \times C \to R$ satisfies (A1)-(A4). For r > 0 and $x \in H$, define a mapping $T_r(x): H \to H$ as follows:

$$T_r(x) = \left\{ z \in C : \Phi(z, y) + \frac{1}{r} \langle y - z, z - x \rangle \ge 0, \, \forall y \in C \right\}, \, \forall x \in H. \quad (2.2)$$

Then,

(1) T_r is single-valued;

(2) T_r is firmly nonexpansive, that is, for all $x, y \in H$,

$$||T_r x - T_r y||^2 \le \langle T_r x - T_r y, x - y \rangle;$$

- (3) $F(T_r) = EP(\Phi);$
- (4) $EP(\Phi)$ is nonempty, closed and convex.

A mapping T with domain D(T) and range R(T) in E is said to be demiclosed at p if whenever $\{x_n\}$ is a sequence in D(T) such that $\{x_n\}$ converges weakly to $x^* \in D(T)$ and $\{Tx_n\}$ converges strongly to p, then $Tx^* = p$.

Lemma 2.3 [2]. Let C be a nonempty closed convex subset of a real uniformly convex Banach space E, and $T:C \to E$ be a non-self asymptotically nonexpansive mapping. If T has a fixed point, then I-T is demiclosed at zero.

Lemma 2.4 [10]. Let $\{x_n\}$ and $\{y_n\}$ be two bounded sequences in a real uniformly convex Banach space E. If $0 < a \le \alpha_n \le b < 1$, $\limsup_{n\to\infty} \|x_n\| \le r$, $\limsup_{n\to\infty} \|y_n\| \le r$ and $\lim_{n\to\infty} \|\alpha_n x_n + (1-\alpha_n)y_n\| = r$, then $\lim_{n\to\infty} \|x_n - y_n\| = 0$.

Lemma 2.5 [18]. Let $\{\alpha_n\}$ and $\{\beta_n\}$ be two nonnegative real number sequences satisfying

$$\alpha_{n+1} \leq \alpha_n + \beta_n, \quad n \geq 1.$$

If $\sum_{n=1}^{\infty} \beta_n < \infty$, then $\lim_{n \to \infty} \alpha_n$ exists.

3. Main Results

Theorem 3.1. Let C be a nonempty closed convex subset of a real Hilbert space H. Let $\Phi: C \times C \to R$ be a bifunction satisfying (A1)-(A4), and $T: C \to E$ be a non-self asymptotically nonexpansive mapping with

sequence $\{k_n\}\subset [1,\infty)$ such that $\Omega=F(T)\cap EP(\Phi)\neq\varnothing$ and $\sum_{n=1}^{\infty}(k_n-1)$ < ∞ . For any given $x_1\in C$, $\{x_n\}$ and $\{u_n\}$ are defined by

$$\begin{cases} \Phi(u_n, y) + \frac{1}{r_n} \langle y - u_n, u_n - x_n \rangle \ge 0, \ \forall y \in C, \\ y_n = P((1 - \beta_n)u_n + \beta_n T(PT)^{n-1} u_n), \ n \ge 1, \\ x_{n+1} = P((1 - \alpha_n)x_n + \alpha_n T(PT)^{n-1} y_n), \end{cases}$$
(3.1)

where P is a projection operator from H onto C. If T is completely continuous, and $\{\alpha_n\}$, $\{\beta_n\}$ and $\{r_n\}$ satisfy the following conditions:

(1)
$$0 < a \le \alpha_n \le 1 - a < 1, n \ge 1$$
;

(2)
$$\liminf_{n\to\infty} r_n > 0$$
, $\lim_{n\to\infty} |r_{n+1} - r_n| = 0$,

then $\{x_n\}$ and $\{u_n\}$ converge strongly to a common element $q \in \Omega$.

Proof. For any $p \in \Omega$, it follows from Lemma 2.2 that $u_n = T_{r_n} x_n$ and $||u_n - p|| = ||T_{r_n} x_n - p|| \le ||x_n - q||$. Put $k_n = 1 + \delta_n$, from (3.1), we have $||y_n - p|| \le (1 - \beta_n) ||u_n - p|| + \beta_n (1 + \delta_n) ||u_n - p|| \le (1 + \delta_n) ||x_n - p||$, (3.2) in addition,

$$\| x_{n+1} - p \| \le (1 - \alpha_n) \| x_n - p \| + \alpha_n (1 + \delta_n) \| y_n - p \|$$

$$\le (1 - \alpha_n) \| x_n - p \| + \alpha_n (1 + \delta_n)^2 \| x_n - p \|$$

$$\le (1 + 2\delta_n + \delta_n^2) \| x_n - p \|$$

$$\le e^{\sum_{k=1}^n (2\delta_k + \delta_k^2)} \| x_1 - p \|.$$
(3.3)

Since $\sum_{n=1}^{\infty} (k_n - 1) < \infty$, we have $\sum_{n=1}^{\infty} \delta_n < \infty$. Thus, it follows from (3.3) that $\{x_n\}$ is bounded. Further, $\{u_n\}$, $\{y_n\}$, $\{T(PT)^{n-1}u_n\}$ and $\{T(PT)^{n-1}y_n\}$ are bounded, too.

Set $M = \sup\{||x_n - p||, n \ge 1\}$, from (3.3), we also have

$$||x_{n+1} - p|| \le ||x_n - p|| + (2\delta_n + \delta_n^2)M.$$
 (3.4)

It follows from Lemma 2.5 that $\lim_{n\to\infty} ||x_n - p||$ exists for any $p \in \Omega$.

We now show that $\lim_{n\to\infty} \|x_n - Tx_n\| = 0$. Assume that $\lim_{n\to\infty} \|x_n - p\| = r$. Since $\|y_n - p\| \le (1 + \delta_n) \|x_n - p\|$, we may obtain

$$\limsup_{n \to \infty} \| y_n - p \| \le r. \tag{3.5}$$

On the other hand, since $\|T(PT)^{n-1}y_n - p\| \le (1+\delta_n)\|y_n - p\|$, we have

$$\lim \sup_{n \to \infty} || T(PT)^{n-1} y_n - p || \le r.$$
 (3.6)

Since (from (3.3))

$$||x_{n+1} - p|| \le ||(1 - \alpha_n)(x_n - p) + \alpha_n (T(PT)^{n-1}y_n - p)||$$

$$\le ||x_n - p|| + (2\delta_n + \delta_n^2)||x_n - p||,$$

we have

$$\lim \sup_{n \to \infty} \| x_{n+1} - p \|$$

$$\leq \lim \inf_{n \to \infty} \| (1 - \alpha_n)(x_n - p) + \alpha_n (T(PT)^{n-1}y_n - p) \|$$

$$\leq \lim \sup_{n \to \infty} \| (1 - \alpha_n)(x_n - p) + \alpha_n (T(PT)^{n-1}y_n - p) \|$$

$$\leq \lim \sup_{n \to \infty} \| x_n - p \| + \lim \sup_{n \to \infty} (2\delta_n + \delta_n^2) \| x_n - p \|$$

$$= \lim \sup_{n \to \infty} \| x_n - p \|.$$

Thus we have

$$\lim_{n \to \infty} \| (1 - \alpha_n)(x_n - p) + \alpha_n (T(PT)^{n-1} y_n - p) \| = r.$$
 (3.7)

It follows from Lemma 2.4 and (3.6) that

$$\lim_{n \to \infty} ||x_n - T(PT)^{n-1}y_n|| = 0.$$
 (3.8)

From (3.1), we may obtain that

$$\| x_{n+1} - x_n \| = \| P((1 - \alpha_n)x_n + \alpha_n T(PT)^{n-1}y_n) - Px_n \|$$

$$\leq \| ((1 - \alpha_n)x_n + \alpha_n T(PT)^{n-1}y_n) - x_n \|$$

$$= \alpha_n \| T(PT)^{n-1}y_n - Px_n \|,$$

hence, it follows from (3.8) that

$$\lim_{n \to \infty} \| x_{n+1} - x_n \| = 0 \tag{3.9}$$

and

$$\lim_{n \to \infty} \| x_{n+1} - T(PT)^{n-1} y_n \| = 0.$$
 (3.10)

In addition,

$$||x_n - p|| \le ||x_n - T(PT)^{n-1}y_n|| + (1 + \delta_n)||y_n - p||,$$

taking \liminf on the both sides in inequality above and using (3.8), then $\liminf_{n\to\infty}\|y_n-p\|\geq r$. Thus, since $\limsup_{n\to\infty}\|y_n-p\|\leq r$, we have $\lim_{n\to\infty}\|y_n-p\|=r$. Using the same proof method of the equality (3.7), we can also obtain

$$\lim_{n \to \infty} \| (1 - \beta_n)(u_n - p) + \beta_n (T(PT)^{n-1}u_n - p) \| = r.$$

Notice that $\limsup_{n\to\infty} \|u_n - p\| \le \lim_{n\to\infty} \|x_n - p\| = r$ and

$$\limsup_{n\to\infty} \|T(PT)^{n-1}u_n - p\| \le \limsup_{n\to\infty} (1+\delta_n) \|u_n - p\| \le r.$$

So, it follows from Lemma 2.4 that

$$\lim_{n \to \infty} \| u_n - T(PT)^{n-1} u_n \| = 0.$$
 (3.11)

Further, from (3.1) and (3.11), we have

$$\lim_{n \to \infty} ||y_n - u_n|| = 0. {(3.12)}$$

Since non-self asymptotically nonexpansive mappings are L-Lipschitzian,

there exists a constant L > 0 such that $||T(PT)^{n-1}x - T(PT)^{n-1}y|| \le L||x - y||$ for all $x, y \in C$ and each $n \ge 1$, so

$$||x_n - u_n|| \le ||x_n - T(PT)^{n-1}y_n|| + ||T(PT)^{n-1}y_n - T(PT)^{n-1}u_n||$$

$$+ ||T(PT)^{n-1}u_n - u_n||$$

$$\le ||x_n - T(PT)^{n-1}y_n|| + L||y_n - u_n|| + ||T(PT)^{n-1}u_n - u_n||.$$

From (3.8), (3.11) and (3.12), we have

$$\lim_{n \to \infty} ||x_n - u_n|| = 0, \quad \lim_{n \to \infty} ||x_n - y_n|| = 0. \tag{3.13}$$

Furthermore, since

$$|| x_n - T(PT)^{n-1} x_n || \le || x_n - T(PT)^{n-1} y_n || + || T(PT)^{n-1} y_n - T(PT)^{n-1} x_n ||$$

$$\le || x_n - T(PT)^{n-1} y_n || + L || y_n - x_n ||,$$

it follows from (3.8), (3.9) and (3.13) that

$$\lim_{n\to\infty} \|x_n - T(PT)^{n-1}x_n\| = 0$$

and

$$\lim_{n \to \infty} \| x_{n+1} - T(PT)^{n-1} x_n \| = 0.$$
 (3.14)

For $n \ge 2$, we have

$$||x_{n} - Tx_{n}|| \le ||x_{n} - T(PT)^{n-1}x_{n}|| + ||T(PT)^{n-1}x_{n} - Tx_{n}||$$

$$\le ||x_{n} - T(PT)^{n-1}x_{n}|| + L||T(PT)^{n-2}x_{n} - x_{n}||$$

$$\le ||x_{n} - T(PT)^{n-1}x_{n}|| + L||T(PT)^{n-2}x_{n} - T(PT)^{n-2}x_{n-1}||$$

$$+ L||T(PT)^{n-2}x_{n-1} - x_{n}||$$

$$\le ||x_{n} - T(PT)^{n-1}x_{n}|| + L^{2}||x_{n} - x_{n-1}|| + L||T(PT)^{n-2}x_{n-1} - x_{n}||$$

Therefore, from (3.9) and (3.14), we obtain

$$\lim_{n \to \infty} ||x_n - Tx_n|| = 0. {(3.15)}$$

Finally, we show that $\{x_n\}$ and $\{u_n\}$ converge strongly to a point in Ω .

Since $\{x_n\}$ is bounded, there exists a subsequence $\{x_{n_j}\}$ of $\{x_n\}$ such that $\{x_{n_j}\}$ converges weakly to a $q \in C$. It follows from (3.15) and Lemma 2.3 that $q \in F(T)$. Since $\lim \|x_n - u_n\| = 0$, we know that $\{u_{n_j}\} \rightarrow q$ as $j \rightarrow \infty$. We now show that $q \in EP(\Phi)$.

As a matter of fact, from $u_n = T_{r_n} x_n$, we have

$$\Phi(u_{n_j}, y) + \frac{1}{r_{n_j}} \langle y - u_{n_j}, u_{n_j} - x_{n_j} \rangle \ge 0, \quad \forall y \in C.$$
 (3.16)

From (A2), we have

$$\frac{1}{r_{n_j}} \langle y - u_{n_j}, u_{n_j} - x_{n_j} \rangle \ge \Phi(y, u_{n_j}), \quad \forall y \in C.$$
 (3.17)

Since $\{x_n\}$, $\{u_n\}$ are bounded, $\{u_{n_j}\} \rightharpoonup q$ as $j \to \infty$ and $\Phi(x, y)$ is lower semicontinuous for the second variable, thus as $j \to \infty$ in (3.17), we have

$$\Phi(y, q) \le 0, \quad \forall y \in C. \tag{3.18}$$

For all $y \in C$, let $t \in (0, 1)$, put $y_t = ty + (1 - t)q$. Then $y_t \in C$ and $\Phi(y_t, q) \le 0$. It follows from (A1) and (A4) that

$$0 = \Phi(y_t, y_t) \le t\Phi(y_t, y) + (1 - t)\Phi(y_t, q) \le t\Phi(y_t, y), \quad \forall y \in C,$$

this yields that $\Phi(y_t, y) \ge 0$ for any $y \in C$. Further, as $t \to 0^+$, we have $\Phi(q, y) \ge 0$ for all $y \in C$. This implies that $q \in EP(\Phi)$.

Since T is completely continuous, $Tx_{n_j} \to q$ as $j \to \infty$. From (3.15), we know that $\lim_{n \to \infty} \|x_{n_j} - q\| = 0$. Further, since $\lim_{n \to \infty} \|x_n - q\|$

Strong Convergence for Equilibrium Problem and Fixed Point ... 267 exists, we may conclude that $\lim_{n\to\infty} ||x_n-q|| = 0$. This implies that $\{x_n\}$ converges strongly to $q \in \Omega$. On the other hand, since $||u_n-q|| \le ||x_n-q||$, we also know that $\{u_n\}$ converges strongly to $q \in \Omega$. The proof is completed.

Remark. In fact, the sequences $\{x_n\}$ and $\{u_n\}$ defined in (3.1) also converge strongly to a common element $q \in \Omega$ when the non-self asymptotically nonexpansive mapping T is demi-compact, since we have obtained the inequality (3.15). In addition, when $\Phi(x, y) = 0$ for all $x, y \in C$, the sequence $\{x_n\}$ converges strongly to a fixed point of T.

References

- [1] E. Blum and W. Oettli, From optimization and variational inequalities to equilibrium problems, Math. Student 63 (1994), 123-145.
- [2] C. E. Chidume, E. U. Ofoedu and H. Zegeye, Strong and weak convergence theorems for asymptotically nonexpansive mappings, J. Math. Anal. Appl. 280 (2003), 364-374.
- [3] C. E. Chidume and Bashir Ali, Approximation of common fixed points for a finite family of nonself asymptotically nonexpansive mappings in Banach spaces, J. Math. Anal. Appl. 326 (2007), 960-973.
- [4] V. Colao, G. Marino and H. K. Xu, An iterative method for finding common solutions of equilibrium and fixed point problems, J. Math. Anal. Appl. 344 (2008), 340-352.
- [5] P. L. Combettes and S. A. Hirstoaga, Equilibrium programming in Hilbert spaces,J. Nonlinear Convex Anal. 6(1) (2005), 117-136.
- [6] K. Goebel and W. A. Kirk, A fixed point theorem for asymptotically nonexpansive mappings, Proc. Amer. Math. Soc. 35 (1972), 171-174.
- [7] P. Kumam, A hybrid approximation method for equilibrium and fixed point problems for a monotone mapping and a nonexpansive mapping, Nonlinear Analysis: Hybrid Systems 2 (2008), 1245-1255.
- [8] M. Noor and W. Oettli, On general nonlinear complementarity problems and quasi-equilibria, Mathematiche (Catanin) 49 (1994), 313-346.

- [9] S. Plubtieng and R. Punpaeng, A general iterative method for equilibrium problems and fixed point problems in Hilbert spaces, J. Math. Anal. Appl. 336 (2007), 455-469.
- [10] S. Schu, Weak and strong convergence of fixed points of asymptotically nonexpansive mappings, Bull. Austral. Math. Soc. 43 (1991), 153-159.
- [11] S. Takahashi and W. Takahashi, Strong convergence theorem for a generalized equilibrium problem and a nonexpansive mapping in a Hilbert space, Nonlinear Analysis 69 (2008), 1025-1033.
- [12] A. Tada and W. Takahashi, Weak and strong convergence theorems for a nonexpansive mappings and an equilibrium, J. Optim. Theory Appl. 133 (2007), 359-370.
- [13] W. Takahashi, Nonlinear Functional Analysis, Yokohama Publishers, Yokohama, 2000.
- [14] S. Thianwan, Common fixed points of new iterations for two asymptotically nonexpansive non-self mappings in Banach space, J. Comput. Appl. Math. 224 (2009), 688-695.
- [15] Lin Wang, Strong and weak convergence theorems for common fixed points of non-self asymptotically nonexpansive mappings, J. Math. Anal. Appl. 323 (2006), 550-557.
- [16] Lin Wang, Explicit iteration method for common fixed points of a finite family of nonself asymptotically nonexpansive mappings, Comput. Math. Appl. 53 (2007), 1012-1019.
- [17] Liping Yang, Modified multistep iterative process for some common fixed points of a finite family of nonself asymptotically nonexpansive mappings, Math. Comput. Modelling 45 (2007), 1157-1169.
- [18] H. K. Xu, Iterative algorithms for nonlinear operator, J. London Math. Soc. 66 (2002), 240-256.